PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
25th July 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Which of the following raw materials for the manufacture of paper is used in the largest quantity? / DIl &

Frtor & fore e o= ara & @ &9 91 999 981 9 § o fear sirar 82
* Salai wood / UTIs pS!
® Sabai grass / T9S T
® Cotton rags / HURT Tl

® Bamboo / T

Correct Answer :-Bamboo / 919

2)
Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below are four drawings of boxes with

designs. When folded, which box will it be?/aT*ff MR W mﬁfwﬁqﬁﬁw%ﬁmﬁ%muﬁmaﬁ
forar ue gaar femrdt 8] e fewmsl ard sRil $t IR SS9 €] Wies #RA W, B 9T 99971 SN2

()



Correct Answer :-

3)
Question Stimulus :-

In India, political parties are given recognition by - / HIRd ﬁ, NEEIRED EE}f G| 3:@7 GIRT AT UTkd 'Ea_cﬁ %
® President / ?quﬁ[
® Law Commission / faf¥s 3T
® Speaker of Lok Sabha / ATPOHT 3reded
® Election Commission / -Td STIRT

Correct Answer :-Election Commission / T-ITd {TRIRT

4)
Question Stimulus :-

Who was known as the liberator of press in India? / HIRd TUd &S 'ﬂ'%l?{l’(ﬂ ﬁq WT%I e?
Lord Minto / TTS fi=a}

Lord Wellesley / qrs davd

Lord Auckland / TS ipeis

Lord Metcalfe / ATS ACHTeH

Correct Answer :-Lord Metcalfe / ATS HCHTP

5)
Question Stimulus :-

‘Bell’ is related to ‘sound’ in the same way as ‘lamp’ is related to / ‘Ul Udfda g “w@f’ @
S BRI o e aw Wefta § 3ea

® Flame / SdATdl

® Light / UPIRT

©)



° Wick/ﬁ'l?‘ﬁ
e 0il / dd

Correct Answer :-Light / UPIRI

6)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg e ﬂﬁT{
Sil 3T 7T HyAY vd et & 9§ 9 2

Statements: / YH:

Some mails are letters / $9 A4 uF %

All letters are posts / I T3 81 &
Conclusions: / fA=pd:

I. Some posts are letters / I.99 S UF %

II. Some letters are not mails / IL.$® U3 Ad T8l &
® Only conclusion I follows / Wﬁ'@ﬂf I Frear '%
® Only conclusion Il follows /Wﬁ'ﬁaﬂf i fperar %
® Both conclusion | and Il follows/aT'ﬁ foreed 1 GﬁT II foad %

® None of the conclusion | or Il follows /ﬁl’ﬁﬁ'ﬁf IFNIIH A aﬁs‘ T-I'Eﬁ Freaar %
Correct Answer :-None of the conclusion I or Il follows / -5 d I a1 IT & | ﬂﬁ_&; Tl Freaar %

7)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe ﬂﬁt{
it f3T U Syl wd Frepul & 9 | w9 81

Statements: / DY:

Some cats are dogs / $9 ffewai $9 &

No dog is black / aﬁéﬁwqﬁ%
Conclusions: / fawod:

I. Some cats are black / I. $9 fafeeai ot §

I1. Some cats are not black / II. $© fafemai wreft 7Y €
4)



® Only conclusion | follows / Wﬁ'ﬁfﬁf I frepear %

® Only conclusion Il follows/aﬁaﬁ'ﬁmf i frean %

® Both conclusion land Il foIIows/E.':]:ﬁ '&I’Wﬁf I 3ﬁ? II foad %

® None of the conclusion l or I follows/ﬁmﬂf IGTIIH ﬁi qﬁ e %
Correct Answer :-Only conclusion Il follows / pad faspy 11 frear g

8)
Question Stimulus :-

A team of five is to be selected from amongst fiye boyg (A, B, C, D and E) and four girls (P,
Q, R and S). Some criteria for selection are: / Ul ?ﬁ,?ﬁ(A,B,C,D,Gﬁ? E) 3R IR
ASfRAI(P,Q,R,3MR S) A ¥ U AN $I TP 1A T 947 T ¢ | TIT FI ST &

A and S have to be together. / A 3R S 914 81 I1RT |

P cannot be put with R. / P & R & 14 T8 ¥@T off J&dll

D and Q cannot go together. / D 3R Q TS T1Y T8I oIl o |

C and E have to be together. / C 3R E TP 91 g g T2 |

e R cannot be put with B. / R &I B & 14 78! ¥@T oIl &l

If including P at the least three members are girls, the members of the team other than P

are / 3R P &I fAam®d diF @sfar &, P & 3fafked a9 & e gl

QI SIAI B

Q,S,B,D

QISICIE

R,S,A,D

Correct Answer :-Q,S,A,B
9)

Question Stimulus :-

If bad implies going north, and its bad, then it's going north. / af¢ TRE FT 31 § IW F 3R
ST, 3R U8 TR B, dl 98 S P 3R o &1 &1

(5)



* True / T&l

False / Tdd
May be / B I&dT 8

Irrelevant / 3RS

Correct Answer :-True / 9gl

10)

Question Stimulus :-

Where did Gautam Buddha attains nirvana?/Gl?T Tﬁ_cl'q 9 J frator uTe T uT?

Gaya / T™T

Bodh Gaya / SYERTAT

Lumbini / ?ﬂﬁ:ﬁ

Sarnath / JIRATY

Correct Answer :-Bodh Gaya / SIERTIT

11)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg& faweu gﬁlﬁ,\_rﬁ TP DI ¥
9 - e MU Y & THT | :

If you use the formula then you can solve the problem. /ﬁmwmmmﬁ?{a’r Sq
HATd Pl A P TPl 3

If you do not use the formula then you cannot solve the problem. /!Tﬁ:arrqﬁam
AT 18} HXd 3 | 3T ard &) g 81 DX bl g

If you solve the problem then use the formula. /U%WWWWQ%%H’[WWW
Ead

Using the formula is a must to solve the problem. / Jard &I ﬁﬂﬂﬁ%ﬁ?ﬁ?iﬁm
PRAT TITS B

If the problem is not solved by you then you must not have used the formula. /afe

HaTe 3TYS GRT 5 181 g1 & aY SMTU= A BT W 181 fopar g |

Correct Answer :-If the problem is not solved by you then you must not have used

the formula. / f TaTe 3TUD GRT T 81 G 8 A AU I BT TART 81 {41 I

(6)



12)
Question Stimulus :-

Which Subject was transferred from state list to Concurrent list by the 42" amendment of the Constitution? /

AfIUr & 429 A=A & gRT 5 v o1 Ia o1 A & guaddl gl 3 JuUrEdRd fooar 1 o412
® Agriculture / ?ﬁf
* Education / TRT&f
® Irrigation / RI=TS
® Local Self-Government / ®ITH14 HTIqd A
Correct Answer :-Education / TT&fT
13)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ, tl?ﬁ' a1 uel & o= fopedt
TPR T B Jay 3] 7 fawen & I vyr ug g~ e R ug & a1y St yeR &1 J9Y 8]

Oil : Lamp :: Wax: ? / a9 : AR 2 HIW: ?
® Bulb/¥ed
* Candle / HIHTR
* Light / WX
® Dark / 3i¢RT
Correct Answer :-Candle / HIHaxT
14)

Question Stimulus :-

What was the timeline in which the Indus Valley Civilization existed? / ﬁ:l_"i{ " GdT fopd o1a o o=
A2

® 500 BC to 250 BC / 500 ST U4 I 250 ST Yd

® 1700 BC to 2600 BC / 1700 T Jd & 26 00 39T G4

® 4000 BC to 3500 BC / 4000 3T Jd ¥ 3500 3T o
(7)



® 1AD to 1500 AD / 1 ST UHTq I 1500 ST UYTq

Correct Answer :-1700 BC to 2600 BC / 1700 ST Jd ¥ 26 00 39T qd

15)
Question Stimulus :-

is ranked first in both domestic and forejgn tourist arrivals for the year 2014 at
the national level. / , T R fad=h whedl & e § P wWR W av 2014 § g WM
W

® Tamil Nadu / 8@ qarg
* Kerala/ ®d

® Rajasthan / ITSTRITT

® Punjab / USITd

Correct Answer :-Tamil Nadu / 9 g

16)
Question Stimulus :-

Six people A,B,C,D,E and F are sitting on the ground in a hexagonal shape. All the sides
of the hexagon so formed are of same length. A is not adjacent to B or C ;D is not
adjacent to C or E; B and C are adjacent; F is in the middle of Dand C. / ©: AT A,B,C,D,E

3R F o R wesiviy e § 83 81 wediur it it Yormsit it d91E U W= 81 B 1 € & T |
AT & CTEFTAEDTHN §; BIIRCTAHAE; DR CHFAAF I

If one neighbour of A is D, who is the other one? / 3R A &I TH H@'\“ﬁ D %, Gl QT P P

Correct Answer :-C

17)
Question Stimulus :-

A farmer grows 3 crops in rotation — A, B, C. A is grown between the months Jan-June, B between May — September
and C between August-December. Each crop takes 3 months from sowing to harvesting. At a time only crop can be

(8)



grown. / T fopam= frafira smad=T o 3 Bd ST 8 - A, B, €1 A SR} S AR & a1, 08 Rrarar » dw
3R ¢ 3T -fediaR & S 3T wraT 81 Ul® BHd H gars | Hers & (oY 3 HE @ § | U qua
$Id TP BHA TS off APl 8

If the farmer sows B in June, when can C be sown at the earliest? / ﬂﬁmﬁﬁf{ﬁ B IdT %, dqcHl \_rlc'_'c."ﬁ S 5
$d g1 S bl 87

® September / RTawR
® October / 3agdR

® November /daY

® December / fedaR

Correct Answer :-September / fRITHRT

18)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu gfHQ
wil foT 7T Byl wd fFremul & TR A @€ el

Statements: / DYU:

All parks are medicines. / 9 32 gar g1

All medicines are doctors. / H‘l-ﬁaaﬁ@fl'ﬁ?\’%]
Conclusions: / e

I. No doctors are parks. / I. ®Is Siqe¥ 39 g1 &1

II. All parks are doctors. / II. 9} 3T Sl g1

® Only conclusion | follows / Wﬁ'&?& I fFreadan %

® Only conclusion Il follows / Had ey 1| fAeadr %

® Both conclusion | and Il follows /'ca:ﬁ forsed 1 3R 11 e %

® None of the conclusion | or Il follows /ﬁw‘cf ITII® '\ﬁ aﬂg‘ qé’f Freaar %
Correct Answer :-0Only conclusion Il follows/aﬁﬁﬁ'ﬁﬂf i fHreedan %

19)
Question Stimulus :-

Who was the ruler of Bhopal when India won independence? / HIRd P WA & GHY HIUTA BT AP P

©)



qr?
® Nawab Hamidullah Khan / dTd Eﬂw ECIG)
® Nawab Sultan Jahan / dTq {exdild STl
® Nawab Shajahan Begum / JdTd UGS T
® Mansoor Ali Khan Pataudi / H-IX 3refl @1 ueidy

Correct Answer :-Nawab Hamidullah Khan / TdTd gHIgeeTs @

20)
Question Stimulus :-

Which famous playback singer was born in Khandwa, Madhya Pradesh? / H&I U el # $IF A U=
uref T Uer 5T A2

® Kishore Kumar / fF=IIR PHR
® Mohammed Rafi / e IWL
® Mahendra Kapoor / ues PP
® Kundan Lal Saigal / $q- dTdl T

Correct Answer :-Kishore Kumar / f6=IR $HR

21)
Question Stimulus :-

The Right of Children to Free and Compulsory Education (RTE) was passed by Parliament
of India in / F:3[e® Td Ot Rign fAdas (R &1 3) YRR TG gRI T gIRa g AT

* 2005
®* 2009
® 2008
®* 2010

Correct Answer :-2009

22)

Question Stimulus :-

(10)



Jignesh took a right turn first, then a right and then a left and is now heading north. Which direction was he moving
towards at the beginning? /mﬂ%ﬁmﬁ'ﬂ?ﬂ, ﬁﬂ'ﬂﬁ%ﬁ ﬁ?ﬁ?{maﬁ'\f ama's'waﬂ sﬁ?aam%l
o fo=m 1 3R 95 Yo ema § 9 @I UI?

® North /3R

® South /?{fa'l'UT

® East/Rd

* West/Uf3d
Correct Answer :-West / Uf3d
23)

Question Stimulus :-

Gujarat is famous for this dance form / JoRRTd §9 - et & ﬁ'lt{ RIS %:
® Dandiya / sifsar
® Jhumar / FHY
® Ghumar / gHY
® Loor / T}

Correct Answer :-Dandiya / Sif&al

24)
Question Stimulus :-

Tamil Nadu has a ./ ?Iﬁlﬁ:l'lg t: | %’I

® Unicameral Legislature / e faurdsa
® Bicameral Legislature / feaeia faurdsa
® Tricameral Legislature / ﬁ'\‘lET-ﬂ'q fayrHsa

® None of the above /E':Iﬁﬁﬁﬁ_{' it 78t

Correct Answer :-Unicameral Legislature /W faurdsa

25)

Question Stimulus :-

(11)



A courier agent has to deliver post in 3 streets. Each street has 5 houses. He takes 2 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
20 min to go to the next street. His day starts at 10 AM and finishes off by 3 PM, with no

break in between. / TH TR TS I 3 TRAI A STH ¢T3 TAF TH A5 W EI A TH SH &1 4 2
e daT 8 SR SR el & SR R & o1 # 5 fFe dar 81 at 3Tl el & =M & 20 fiFe dar g1 391 fea

e 10 I IR ST ¢ 3R IUeT 3 a9 W i1 21 98 39 9 B fRm 718 e

If the postman starts at 2:00 PM, how many houses will hq b_e able to cover by 3:00 PM? /
gfe Sifarar 2: 009 U T I ST § df 98 3:009% aF fha- w1 # U faalka o= urhe?

® 7houses/7 U?

® 10 houses /10 O}

e S8houses / 8 WX
® Ghouses/6 WX

Correct Answer =7 houses /7 X

26)
Question Stimulus :-

The National Youth Policy, 2014 defines youth as persons in the age group of years. / TI'@T[ qdr T'ﬁ'ﬁf, 2014

i & Iy ug ¥ afdaal $ = garsil &1 uRyTid Hear g
* 1829
* 15-30
* 1830
* 1529
Correct Answer :-15-29

27)
Question Stimulus :-

Who amongst the following artists from Madhya Pradesh is known for his art with nails? / & UeRT &

Frafafaa sareR! § 9 &9 Sidl S 1Y U1 ST & o8 ST ST 82
® Mushtaq Ali / TP 3t
® Mohammed Bilal Khatri / qﬁmﬁmﬁ@ﬁ

¢ Shahmir Khan / W ECIE|

(12)



® Wajid Khan / d@Tfvig @14
Correct Answer :-Wajid Khan / aTfoig @<
28)

Question Stimulus :-

Who was the first Indian scientist to receive the Nobel Prize? / EIEL) YRPIR a9 Ugd YRd I
RIS P A2

® Hargobind Khurana / g GRTAT

® CV Raman /I4l Y0

® Subrahmanyan Chandrashekar / '{ﬁ'ﬂl‘fﬁqﬂ' YERIER
e Vikram Sarabhai / fdspH '\‘I'RT'J-H—‘-\»;

Correct Answer :-CV Raman / Jtdl T

29)
Question Stimulus :-

Bhojeshwar (Shiva) Temple is found in____./ ISR @F:I') TfeR _'ef %I
® Bhopal / yiurer
® Jabalpur / STdTYY
® Anuppur / S{*{Uq¥
® Bhojpur / 'l-ﬁﬁl'ﬁ?
Correct Answer :-Bhojpur / HISTqR

30)
Question Stimulus :-

The Panchsheel agreement was signed between India and / ERNE '\“l'ﬂ%ﬁ?l R HRd iR fras &= BI&R
fpu T A?

® Pakistan / UTfHEAT
° China/iﬂ?

® Russia /I

(13)



e USA /Igad 3159 @RI
Correct Answer :-China /I
31)

Question Stimulus :-

Which state in India touches the boundaries of the largest number of other States? / HIRd ¥ g I>a & 999

3 3= T4l ot AT F e # el 32
e Andhra Pradesh / 378/ USRI
® Bihar /ﬁ’{»’ﬂ'
® Madhya Pradesh / W U
® Uttar Pradesh / 3T} Q%QT
Correct Answer :-Uttar Pradesh / 3<% USRI
32)

Question Stimulus :-

Alha folk songs are commonly sung in which region of Madhya Pradesh? / 3(TegT AP 4,
ATHAR W AT WX & fohaT & | TR o 72

e Bundelkhand / §STTS

° Baghelkhand/am

® Malwa / HTddI

® Nimar /AR
Correct Answer :-Bundelkhand / TGS
33)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fape ﬂ'&l'q,ﬁ Tb BI ?@
TR RT TN FFA S IR :

If she is not happy then she will not dance. / 3R 98 X T&l & ) a8 &l AT |
* If she is happy then she will dance. /Hﬁﬂ?@%ﬁ’fﬂgml

e If she does not dance then she is happy. / af¢ a8 ATl A8 & af 98 G g1

(14)



* If she does not dance then she is not happy. / af¢ a8 AT} 78! 8 1 98 YT 781 81

e It is required to dance if you are happy. /H‘%W'@;}ZT?H’[WWET%QI

Correct Answer :-If she does not dance then she is not happy. /¢ 98 <] A8l & a1 98

g Tl 5
34)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Fafafed vy & e arde $9 & <) o gawan $3 3iR 3@ 91¢ i for v e # ¥ Jad Suyge
S H BT ITT Py
1. Cut 2. Put on 3. Mark 4. Measure 5. Tailor

1. $CTS 2. UgT1 3. == 4. 919 5. it
* 1,3,2,4,5
* 243,15
e 3,1,54,2
® 43,1,5.2
Correct Answer :-4,3,1,5,2
35)

Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / A uy ﬁ, IR s f&d
T g, ford @ &9 forelt R & 90T € 3R 919! T 3IRT 8| 3IeNT are JTd PHe |

e Delhi / fecht
e Mumbai / §a3
e Kolkata / DIdPIdl

* Rangoon / T[H

Correct Answer :-Rangoon / I

36)

Question Stimulus :-
(15)



How many numbers immediately follow a letter in the following sequence? / IGE] S H fr',

forat derd ¥t €, S T 3R & A 91Q ©2

36WATIN@5GB8<+$EZLR7?Q>2*HA&KPI?#YS
e 7
e 6
5
e 4
Correct Answer :-5
37)

Question Stimulus :-

Among the five villages, Madgaon is smaller than Rajgaon. Chadgaon is larger than
Sudgaon and Birgaon is larger than Rajgaon, but not as larger as Sudgaon. Which is the

largest village? /U= Tl § 9§ Hedlig, ISANa | el 81 9, Wﬁm%éﬁ?ﬁﬁm IS
| 99T 8, W HUIa ST 997 &1 ¢ | Had T97 Tid B A1 82
e Madgaon /WT\'I'T:I
° Rajgaon/ﬂ\_rl'*ﬁ'ﬁ
¢ Chadgaon/ BRI
* Sudgaon /'\‘IE‘lﬁ?r
Correct Answer :-Chadgaon / Bgid
38)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe gﬁ'ﬁ,’,\_rﬁ el Gl
¥ = fow U FyA & FHE #:

If the clouds are not black then it will not rain and we can play cricket. / gfe STed ®Td T8l
& o1 arfe=r 981 gt 3R 8w fpdhe @a Ihd g1

e If it rains then the clouds are black and we cannot play cricket. / gfe Iif=r gt g &t
qTSd I & 3R gH fhdpe T8 @a Iod &

e If it rains then the clouds are black and we can play cricket. /ﬁﬁTﬁ"ﬂEﬂ?ﬁ%?ﬁW
FId § 3X 89 fobdre Qa Iwd &

(16)



e If it does not rain then the clouds are not black and we can play cricket. / af¢ aTfv=T

T8l il § <t aTed BTa T8 § ok gW fohdbe Wa Iad

e If the clouds are black then it will rain and we can play cricket. / gfe ITGd Prdl & ol
aTfv=r gt 3R gH fhdee @@ Iod &1

Correct Answer :-If it rains then the clouds are black and we cannot play cricket. / af¢

IR Bl § d1 9I6d DIl & 3R g fehdpe T8 ©Wa Iod 2|

39)
Question Stimulus :-

Southernmost point in India is / HIRd s i Em ﬁg %:

® Kanyakumari / W@qm

® Indira point / E'ETI U"I'EE'

® Indira col / '&"%Tf G|

* Kibithu / fbfay
Correct Answer :-Indira point / SIG2T Uigc
40)

Question Stimulus :-

Pointing to lady in a bus Rahul said “She is the daughter of my father’s son.” How is

Rohan related to her? / 59 # U® AfRAT #1 3R Tdbd Id §¢ g A Fel, “a8 W fuar & 9¢ &1 ¢t 81~
Ae ITA 9 UPR Hafta 32

e Brother / 'I-I'IEF
e Cousin/ TR 'l-l'l'sc
* Father / fiar
* Uncle / 3i®d
Correct Answer :-Uncle / 3i®d

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

A, B and C can do a work in 24, 16 and 12 days respectively working together. How many days will it take to

completethework?/A,Bﬁcwmﬁmqm@m: 24%7{, 16 feca siR 12 fea A =

(17)



TAPd Tl BTH B Tad B A ford=r I9a T Rm?

3
days /5 % faa

.
ul
A |

Lid | =
L] =

fea

days / 5

| b
3| b

e 5 days/5 ~ f&a

bt | =
bt | =

e 5 “days/5 - fa

1 1
Correct Answer :-5 > days /5 > T4

2)
Question Stimulus :-
Complete the series choosing the missing number: / AW IBAT DR 4T B TR BIT :
1,6,13,22,33,
* 44
* 45
* 46
* 47
Correct Answer :-46
3)

Question Stimulus :-

In the sequence shown below, which figure comes next? / -1g fRER T 4 |, FTAT MPHd
HI A grfi?

[

(18)



I

Correct Answer :-

4)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faqu 31&R gA®H S@al Eﬁw DI :c_
bbb _ _ abbbb _ abbb _

® aabcb
® abccb
® abacb
® bacbb

Correct Answer :-abccb

5)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ'(f[l?f S&R AP e P T 'ﬂ'ﬁﬁ(’ ta_bc_a_bcda_
ccd _bed _

® adbcad

® adbbad
(19)



® acbdbb

® abddbd
Correct Answer :-adbbad
6)
Question Stimulus :-

What is the minimum number of straight lines needed to make the following figure? / ﬁ'ﬁ \"H'ITF(I CARSCIE kS ﬁ'l'&
AaH d@ o feant At @i ot srazadar g2

e

|
RN

° 13
Correct Answer :-10
7)

Question Stimulus :-

Which two of the following four addresses are EXACTLY same? / FY IR tal # A &9 ¥ g ud
UheH IHH &2

(i) M. Bernard
VAUCE
53300 COUESNES VAUCE

FRANCE

(ii) M. Bernard

VAUCE

(20)



53300 COUSENES VAUCE

FRANCE

(iii) M. Bernard
VAUCE
53030 COUESNES VAUCE

FRANCE

(iv) M. Bernard
VAUCE
53300 COUESNES VAUCE

FRANCE
® |andll
® land IV
® Jlandlll
® [lland IV
Correct Answer :-land IV

8)

Question Stimulus :-

A rope was cut into 3 pieces of lengths 3

m length to the whole length? / W?WﬂﬂﬁBgtﬁ,431ﬁ3ﬁthﬁﬁ1ﬁ?ﬁq§ﬁ,3fﬁWW| 4
oY TETS BT UFT BT G TS F S U T4 gime

—t
—t

[
Ly

meters

b
B o0

meters

Ly | e

m, 4

A

2

(21)
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m & 2m.What fraction is the part of 4

1| a2
Lh | k2



6
e 25 meters

[ o]
Ly | )|

. meters

1

2

(S

Ly

Correct Answer :- meters

9)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / T & ¥ sixae serl T H@S BT IIHH TART HRl 8| Ted Al ggan=g|

(i) XY789X2Y6
(ii) XY189X2Y6
(i) XY789X2Y6

(iv) XY789X2Y6

® iii

® jv
Correct Answer :-ii
10)

Question Stimulus :-

In the following q_uestipn, one term in the number series is wrong. Find out the wrong
term. / 99 Uy #, G 4@ A TP UG TAd €| TAd UG Fd BIoA|

121,143,166,187,209
® 121
* 187

® 166

(22)



® 209
Correct Answer :-166

11)

Question Stimulus :-

Allen Solly trouser is marked at Rs. 1,200. A discount of 12% is given on the marked price. What is the net
selling price? / TA Wlelt Uaqd T fafgd Ied 1,200 394 g1 e o0 W 12% F1 ge 4 T 81 A el qou
FTE?

* Rs. 2,056 /2,056 $UY

* Rs. 3,056 / 3,056 $UY

e Rs.1,056 /1,056 ¥Ud

* Rs. 4,056 / 4,056 TUY

Correct Answer :-Rs.1,056 / 1,056 SUJ

12)

Question Stimulus :-

200 200
190 19!
Evaluate / ~ ®1HME g
® 19
* 18
® 21
* 20

Correct Answer :-20

13)
Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting a sum of at most 5 is /Eﬁ e WW”%WI et
T 8 {5 arer | Srer 4=isi &1 od 5 3imd?

e 1/4
* 5/18

(23)



® 1/9

* 1/12
Correct Answer :-5/18
14)

Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting a sum of 8 is / ?:,Pf m@’@mﬂﬁ'ﬂt{l T HUTaAT
? T3l 3T Fa 8 3MT?

* 4/36

* 5/36

®* 1/6

* 1/4
Correct Answer :-5/36
15)

Question Stimulus :-

In a certain code, MADRAS is written as NBESBT, how is MUMBAI coded? / f&dl @9 ®is
#, MADRAS %! NBESBT f3RaT SITdT €, @1 MUMBAI &1 &9 HIfSd foar smam?

* NVNCBJ
e NVKCBJ]
* NVNCZ]

e NVNDBJ

Correct Answer :-NVNCBJ]

16)
Question Stimulus :-

In a certain code language, polo folo zolo means sun pulls earth, zolo solo bolo means
earth is round, and solo sula soka means what is this. Which is the word for bolo in that
code language? / &3l @ ®ie YT §, polo folo zolo T HAWY & sun pulls earth, zolo solo
bolo &1 HAWHd & earth is round 3R solo sula soka %1 Hddd § what is this | 39 B8 4T § bolo

P fore =T wIeg 82

(24)



® round
® carth
® sun
® what
Correct Answer :-round

17)

Question Stimulus :-

In a certain code language, ata pita fita means a great effort, matta pita data means man is great, and futa fota fita means
have a seat. Which is the word for ata in that code language? / 3t @ sy ﬁ, ata pita fita BT HdAd % a
great effort, matta pita data BT HId % man is great 3R futa fota fita BT HAAd % have a seat | I FIs YT H ata
& g« v B2

® great
® seat
® effort
® man

Correct Answer :-¢ffort

18)

Question Stimulus :-

Find the average of first five multiples of 9. / 9 ¥ Ugd urg EIE’{[Uﬁ 3T 3 Ta IBEISEH|

e 18

e 21

e 27

e 30
Correct Answer :-27
19)

Question Stimulus :-

In a certain code language, hela dela kela means secret code word, dela hola jala means the last word, and kela kola

(25)



pela means her secret affair. Which is the word for hela in that code language? / fo<ft @ wrs ywT ﬁ, hela
dela kela BT Hddd % secret code word, dela hola jala BT HdAd % the last word; kela kola pela BT Hddld % her
secret affair | I BIS UTIT | hela & 'PQ’I'Q' HT ot %?

® affair

® Jast

® secret

® code
Correct Answer :-code
20)

Question Stimulus :-

The simplest form of 30xy + 20yz-10xy-5yz is / 30xy + 20yz-10xy-5yz &I Jad I &7

e

® 20xy+15yz

® 15yz+15xy

® 20yz+20xy

® None of these / Eﬁﬁﬁ ﬂﬁ's‘ﬂ%ﬁ
Correct Answer :-20xy+15yz

21)
Question Stimulus :-

If 812A8 + 2A53A = 10881B, then A=? / qﬁ 812A8 + 2A53A = 10881B, Y A=?

Correct Answer :-7

22)

Question Stimulus :-

(26)



Shahid bought a table for Rs. 200 & sold it for Rs. 250.What is his gain percentage? / ¥fgg
9 200 U FT TH A WT 3R 3A 250 FUA | 99 faan| IaeT ey glara w82

® 45%
®* 35%
* 25%
°* 15%
Correct Answer :-25%

23)
Question Stimulus :-

A man crosses a 450 m long street in 5 minutes. What is his speed in km/h? / Uh Gl'la'l:ﬁ 450 Hiex awt qsh 3l
5 fire & R wear 81 s9@! wfa fedl/ger # fopast gifie

® 36
® 7.2
* 84
® 54

Correct Answer :-5.4

24)
Question Stimulus :-

A train covers distance of 10 km in 8 minute. If its speed is increased by 5 km / h then the time taken to cover the same

distance will be? / T &1 8 firFie & 10 el &Y gt T w=edt 81 afe St wifa s fpddiAier @ s Y arcit @
S At g1 g¥l a9 B | foha=1 aHg Rm?

* 7.5min /7.5
e 7min/7fHAE
® 6.5min/6.5 AT
® 6min/6 AT

Correct Answer :-7.5 min / 7.5 f9e

25)

(27)



Question Stimulus :-

35+12-17+83-7=?

® 106

® 9%

* 86

® 76
Correct Answer :-106
26)

Question Stimulus :-

How many liters of acid are there in 12 liters of a 20% solution? / 20% e & 12 diieR
# fopaq dliex or giar 82

® 24
® 48
® 36
* 1.2

Correct Answer :-2.4

27)
Question Stimulus :-

Which is the least positive number to be subtracted from numerator and the
denominator of the fraction 2:3 to make the ratio as 6:5? / 3Urd 6:5 91 & fo@ fUw 2:3
& 3 TG & A HIF W YW YIS T3 gerdl |l Tnfeee

L

® 10

* 12

Correct Answer :-8

28)

(28)



Question Stimulus :-

45% of 1800+60% of 1500=? of 3420 / 1800 T 45% + 1500 HT 60% = 3420 BT ?
® 40%
* 60%
® 55%
* 50%
Correct Answer :-50%
29)

Question Stimulus :-

Complete the series choosing the missing number: / AW JBT TAHY FTAT BT T BIOIT :

1,6,15, ,45,66,91
® 25
°* 26
o 27
e 28
Correct Answer :-28
30)

Question Stimulus :-

If BANGALORE is coded as YZMTZOLIV, how is KOLKATA coded? / af¢ BANGALORE &I
YZMTZOLIV ¥ ®ifed fFar Sdr 8, df KOLKATA &1 & Sifsd foar Srdr 82

e PLOPZDZz
* QLOPZGZ
* PLOPYGY
* PLOPZGZ
Correct Answer :-PLOPZGZ

Topic:- Science and Simple Arithmetic

(29)



1)
Question Stimulus :-
Eutrophication is the result of / UV 3q&T RO @
® Air pollution / dIg UgUUT
® Noise pollution / &afT Ugyul
® Water pollution / S Uguul
® Soil pollution / Hal Uguul
Correct Answer :-Water pollution / Sid Ugyul
2)
Question Stimulus :-

Recently many landslides have been reported in certain parts of our country. The reason behind it is / §T¢l é’f A E'Flﬁ

& P TO UM § T5d | Ywaerl 1 G & TS 7| WS TS PRI 8
* Global warming / @IS aTfT
® Deforestation / T I=Iel
® Droughts/ GH'I‘c{fQ
® Forest fires / 1 31T
Correct Answer :-Deforestation / G I=Ia
3)
Question Stimulus :-

Production of cotton by a company (in 10000 tonnes) over the years. /ﬁl’H aul & a?'l_"l' HYHT G ?ﬁ_'.-{' Ca)
ITe1 (10000 e H)

(30)
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80
70
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80
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10 —

1985 1986 1987 1988 1989 1890 1891 1982

What was the percentage increase in production of cotton in 1992 compared that in 1985?

/ 99 1985 ©t G- | 1992 H ¥5 & IdIeT H fha ufaza @1 g g3 4z

® 320%

220%
® 420%
® 240%
Correct Answer :-220%
4)
Question Stimulus :-

The simple interest at x% for x years will be Rs. x on a sum of: / X% i <« T x TuT H FTYRUT TS x Y
g, 39 I & fou:

® Rs. 100x

100

.

-

e Rs.™

® Rs.x

100
e Rs. *
100

Correct Answer :-Rs. ~*

(31)



5)
Question Stimulus :-

A fuse is a safety device consisting of a wire made of / WRIST Uch YRE&T IUHIUT % il Th di¥ I §41 gl % |
Eﬂ'\ef CEil Eﬁ'cﬂ % :

¢ A high resistance material / T% 3 UfaRY ugrd

® A good conductor / TH TP

® A low melting metal or alloy / & =% &= o1 a1 frerg

® An insulating material / TP ﬁg’fﬁf Akt TIET?f
Correct Answer :-A low melting metal or alloy / T 1% e e1g a1 farg
6)

Question Stimulus :-

Oil and Vinegar is used in pickles to / SER ¥ a9 3R RR&T &1 w4 AT giar &

* Add taste / WG 9¢M F g
® To prevent it from getting dry / 3 Wﬁ CECIEE-T ﬁl’ﬁ[

® Both the ingredients create an unfavorable environment for microbes / Eﬂ:ﬁ LRIV ﬁ"TI'UJGﬁ & ﬁ‘m U
ufagpa ATed S4Tdt 8

* Oil reduces moisture / dd TH! &1 BT HIdT &

Correct Answer :-Both the ingredients create an unfavorable environment for microbes /Eﬁ:ﬁ GIEIVR]

Agsit ¥ e we ufired wrere I @

7)
Question Stimulus :-

Production of cotton by a company (in 10000 tonnes) over the years. / 5% Tuf & RME HU
ERT &% $T IdIe-1 (10000 T #)
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| &
L))

10 —

1985 1986 1987 1988 1989 1890 1891 1982

In how many years of the given years was the production of cotton more than the average production of the given years? /

feu 7T auf # A fPa Tul A 5 1 3G 39 I4 & 3T I 9 3IRIP |2

Correct Answer :-4

8)
Question Stimulus :-

A polished surface is a / Th urterar far B3Il Ade %:
® Good absorber of heat / GCHI BT ST 3[AIMNYUD
® Good radiator and bad absorber of heat / 5CHI BT 3O fafer® EH qrT TP
® Bad absorber and bad radiator of heat / HTHT T gRT JARNYS TG [ fafe
® Good absorber and good radiator of heat / HCHT BT ST SARMTD T4 3roT fafv®

Correct Answer :-Bad absorber and bad radiator of heat / HEHI BT T 3TIMYPH Td T faferee

9)
Question Stimulus :-

A spore producing plant is / TR IduTfea HI4 aran ure %

(33)



* Spirogyra / TUTSRIIITSRT

* Algae / aTd

® Fern / B+

* Ginger / 3ERP
Correct Answer :-fern / B+
10)

Question Stimulus :-

Production of cotton by a company (in 10000 tonnes) over the years. /ﬁl’H qul & aTF[ ST IR ?«—é Ca)
ITe1 (10000 e H)

80
80
70

60
60 —
50
50 45— —

40 —
AQ - OProduction of

30 126 i cotton
20 —
10 —
0

80

| &

| &
M
|

1285 198¢ 1987 19288 19B% 18290 1921 1992

The average production of 1986 and 1987 was exactly equal to the average production of which of the following years?

/¥ 1986 TH 1987 BT 3T IUTGH 390 A 5= a0l & 3iTd IS & fepa A AT

® 1990 and 1991 / 1990 T4 1991
* 1989 and 1990 / 1989 TG 1990
* 1985 and 1991 / 1985 T4 1991
* 1988 and 1990 / 1988 Ud 1990

Correct Answer :-1985 and 1991 / 1985 Td 1991

11)
Question Stimulus :-

Which of the following is not divisible by 2? / frrafafaa A 542 9 fursg T'|é)f %?

(34)



® 3576516
® 9130255
® 78705920
® 13627918

Correct Answer :-9130255

12)

Question Stimulus :-

0<@g<o0e 0<@<oEm .
If , which of the following statement is true? / af¢ , Fufafea § 9 o9 a1 sy=
I g2

® tan O is always greater than one / tan 0 g Th @EET@TH

® tan O is always less than one / tan 6 '\‘I%T:' Th 3 EﬁET'EﬁTIT

* tan O lies in the interval [0, 2] / tan 6 [0,2] & 3icR@ § f&yd ghm

* tan 0 lies in the interval [0, 1] / tan 8 [0,1] & 3itRTa ® YT g
Correct Answer :-tan 0 lies in the interval [0, 2] / tan 8 [0,2] & 3iavad H fRya ghm
13)

Question Stimulus :-

The non-polluting & eco-friendly natural resource of energy is / il ®T UEAT 3R TR

TTpfae ATE 8

® Sunlight / YT

* Petroleum / UgIfrad

* Coal / HIUAI

* Wood / HSI
Correct Answer :-Sunlight / U
14)

Question Stimulus :-

The length of a tangent from a point A at distance 5 cm from the centre of the circle is 4 cm. Find the radius of the

circle. / 99 & $% I 5 T, 3t g W fRE g A F 39 379 W &N T Tt a1 ot =g 4 9. 81

(35)



gd 3 e 3 sifcA |
® 4cm /4 9.
e 3cm/39HL.
e 5cm/53Hl.

o o/ gap,
Correct Answer :-3cm /3 3.

15)

Question Stimulus :-

Who coined the term ‘cell’? / ‘9o’ W fouq Ffia fear
® Robert Brown / ICLACIRG]
® Robert Hooke / ITd¢ Ed
® Edward Jenner / QSH’&F SR
® Louis Pasteur / ﬁ'ﬁc LIEES
Correct Answer :-Robert Hooke / Iac P
16)
Question Stimulus :-
Find the complement of LA =36° / LA =36° ®T Ux® JTd I
e 144°
® 154°
e 54°
e 64°
Correct Answer :-54°

17)

Question Stimulus :-

Unpleasant sounds are called / 3Ifg safy m?ﬁ %

(36)



® Pitch / AR
® Noise / R
® Amplitude / 3ITATH

® Frequency / qu%r

Correct Answer :-Noise / TR

18)
Question Stimulus :-

Production of cotton by a company (in 10000 tonnes) over the years. / g qul & 'aTF[ ST IR '\‘0_‘.{' Ca)
ITe1 (10000 e H)

80
80
70

60
60 —
50
50 45— —

40 —
AQ - OProduction of

30 126 i cotton
20 —
10 —
0

80

| &

| &
M
|

1285 198¢ 1987 19288 19B% 18290 1921 1992

In which year was the percentage decline in the production as compared to the previous year the maximum? / fea

oy # fiod af $t ga-r § Sared & ufawa § gad rer $H1 it ot
* 1986
® 1991
® 1989
* 1992
Correct Answer :-1986
19)
Question Stimulus :-

Global warming is caused due to green house gases. Major green house gases are /

(37)



yHedta Siew i 869 I & SR gt 81 3= Wi gre A §

® methane, carbon dioxide / frﬂ:r, BTa mm

® sulphur dioxide, methane / HehY E'IEG!TWEE, A

® qitrous oxide, carbon dioxide / FATg¢H Gﬁaﬂﬁg, P glgéﬁ'?\‘lﬁg

® carbon dioxide, sulphur dioxide /W E'IQ'GI}I'WE_S, Heh mm
Correct Answer :-methane, carbon dioxide / ﬁ?)T'I', CACE] @gaﬁ'ﬁﬁg

20)
Question Stimulus :-

What are fertilizers ? / GW Gl %'?

® Fertilizers are chemical substances rich in particular nutrient. /W IS dcd % IKECRCEERYLED
g oiftrew ga g1

® Fertilizers provide humus to the soil. / IaxPp HETEIﬁ BOHY g B %"l
® Fertilizers does not help the soil. IGaTCF Hal ®t Hel—dl T-Iﬁ HId %'l
® Excessive use of fertilizers have made the soil rich. / IRP DT TS SUINT Hal &I IUSITS, I-TdT %’I

Correct Answer :-Fertilizers are chemical substances rich in particular nutrient. /W IS ad %

RFH faRiv yiye a9 sifte gid 81

21)

Question Stimulus :-

Plants lose water from their leaves. This process is called /tﬁ?]' 3T U @' oid @ﬁ %.I °d ufepar Ca| Eb?'a %
® Respiration / §I-1
® Precipitation / ayur
® Transpiration / 'ﬂ'\‘a_c{'"[

® Evaporation / AT
Correct Answer :-Transpiration / UG
22)

Question Stimulus :-

(38)



Some of the ancient time measuring devices / U BTd P THIHTI SUBI0N | o PO % :
® Sun dial / Yq El@ﬁ
® Sand clock / m
® Water clock / \_lﬁfﬂ@
® All of the above / SWRIad gt

Correct Answer :-All of the above / SURIaT AT

23)

Question Stimulus :-

[lng lla—ni +log Hfb—ﬂf'—: log Iriﬂ I [ln:g {Iﬁa—ﬂi— lo glﬁb—lﬁi— lo g%#iﬂ
Evaluate !kbcj. “I_t c) -I.ka ) Ik.izc ) | c) Ikab ) S 3.1_"_”
° 1
* 0
°* 2
® Abc
Correct Answer :-0
24)
Question Stimulus :-
If the circumference of a circle is 123.2 cm, then the radius of the circle is . /'Clﬁ qd ﬂﬁ 'qhﬁ-[ 123.2

At ®, a9 ga @I Brear grf |
* 19.6cm/19.6 JHI
® 17.6cm/17.6 GHI
* 19.2cm/19.2 T
* 19.8cm/19.8 §HI

Correct Answer :-19.6 cm / 19.6 9H!

25)

Question Stimulus :-
(39)



Find the area of the parallelogram, shown in the following figure / = E'Q'I'fl'{ e ﬁ, JHIaR ﬂﬂﬂ\_r[ BT &ABd
J1d Biforg

B—— 110m

. B
il

B .
Ban, :m Aim

Ty Ao
o | A

ey 1P p—
o 2250 m?/ 2250 Htex 2
e 880 m%/ 880 Hiex 2
e 8.8 km?/ 8.8 fopHl 2
o 2.25km?/2.25 fpeY 2
Correct Answer :-880 m2/ 880 Hiex 2

26)

Question Stimulus :-

The digit in the units place of the cube 26538533 / O 26538533 § P15 & WM R
3P gl

Correct Answer :-7

27)
Question Stimulus :-

The size and nature of the image formed by a pin hole camera is / T i gw SR gRT T8 ™ ufafda &1
TP T UPHfa 3787 | HAT g2

® Real, inverted and magnified / Tﬂﬁﬁ'@ﬁ, Il 3R maffa
* Virtual, erect and magnified / 3MHRR, Jtur N7 smafdfa

® Real, inverted and diminished / EI'I'\‘?IﬁEF, IeeT 3R ET&IT'T

® YVirtual, erect and diminished / G{T'J-I'I-\"'ﬁ, Ider e ET&R‘T

(40)



Correct Answer :-Real, inverted and diminished / a'l'\‘?lﬁﬁ?, JecT 3R ET&R‘T

28)
Question Stimulus :-

Mamatha and Manju started a business with an initial investment in the ratio 14 :15 and their annual profits were in

the ratio 7 : 6. If Mamatha invested the money for 10 months, for how many months did Manju invest his money? /

AT T4 U9 A 14:15 & 3UTd d URTYS 9% I TF TUR St ST Bt T ITPT aNS q1H BT

%g;mé: AT | i THaT A A B 10 HEH1 & fog o= fowan, at a9 = i &1 fpaq wgiq & e
?

Correct Answer :-8

29)
Question Stimulus :-

Objects appear to be less heavy when submerged in water than in air because / SI¢l A SaHa U a4 dig &I

3 BH gl et gl § Fifp
® The water exerts an upward force on the object / SI¢l 9% WX Th G‘éff g Il %
® The water exerts a downward force on the object / ST¢l 9¥q WX i B \’rﬁ'\" EREGUIG %
® The water exerts no force on the object / ST¢ 9] UX ﬂﬁ_s: Ch H’é’f GAUIGH %
® The water exerts force on the object in all directions / ¢l 9% UR &% fo=m T ga @<t @

Correct Answer :-The water exerts an upward force on the object / ST¢l 9% IR Th 3t T T %

30)
Question Stimulus :-

Production of cotton by a company (in 10000 tonnes) over the years. /ﬁl’H qul & ?ﬁTI_"I' HYAT G '\F&" Ca)
ITe1 (10000 e H)

(41)
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What was the percentage decline in the production of cotton from 1987 to 1988? / 1987 T 1988 & ﬁ & RG] A

fopa= ufa=ra ot &4l g8 9@
* 331/3%
* 30%
* 25%
* 12%

Correct Answer :-25%

(42)



